3GPP TSG-RAN WG2 #62




      R2-082133
5th May – 9th May 2008
Kansas City, USA
Agenda item:

5.1.2.4
Source: 
LG Electronics Inc., NTT DoCoMo
Title: 
ACK_SN setting for short STATUS PDU
Document for:

Discussion and Decision
1.
Introduction
The need for short STATUS PDU is discussed and agreed at the RAN2#61bis meeting, and the final text proposal is expected to be approved at the RAN2#62 meeting. The baseline of the text proposal was proposed in [1], where one issue of setting ACK_SN for short STATUS PDU still remains open. This paper compares two options for ACK_SN setting provided in [1], and proposes way forward.
2.
ACK_SN setting
To discuss the issue more precisely, let’s consider the following example. In the example, it is assumed that VR(R)=0 and VR(MS)=7.
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In this example, the issue is what should be the value of ‘X’ in the short STATUS PDU. There are two possible options.
· Option1) Set X to the highest NACK_SN of the short STATUS PDU + 1. I.e. X = 3.
· Option2) Set X to the SN of the first not completely received PDU above the highest NACK_SN in the short STATUS PDU. I.e. X = 5.
Pros and cons for each option are as follows.
Option1) Set ACK_SN to the highest NACK_SN of the short STATUS PDU + 1

Pros:
If the PDU with the highest NACK_SN is completely not received, ACK_SN can not be set to the highest NACK_SN + 1 in a normal STATUS PDU. For this reason, this option can give hints to eNB that it is a short STATUS PDU. But if the PDU with the highest NACK_SN is partially not received, the advantage does not hold any more.
Cons:

In a normal STATUS PDU, the ACK_SN is set to VR(MS) which is the SN of the first not completely received PDU above the highest NACK_SN in the STATUS PDU. Therefore, this option requires a special handling of ACK_SN setting for a short STATUS PDU.
Option2) Set ACK_SN to the SN of the first not completely received PDU above the highest NACK_SN in the short STATUS PDU
Pros:
UE can set ACK_SN with the same mechanism regardless of whether the STATUS PDU is a short or normal one. In addition, more information than option1 is provided by option2, in that the status of PDUs between the highest NACK_SN + 1 and ACK_SN is provided (acknowledged).
Cons:
eNB can not know whether the received STATUS PDU is a short or normal one.

3.
Proposal
As explained above, the merit of option1 is that eNB can identify a short STATUS PDU and give enough resource next time. But this merit exists only when the PDU with the highest NACK_SN is completely not received. In other words, if the PDU with the highest NACK_SN is partially not received, there is no difference between a normal and a short STATUS PDU. Moreover, it is not clear how much gain eNB can get by the identification of the short STATUS PDU.
Given that there is no significant gain with option1 while the special handling is required, we propose to agree on option2 as ACK_SN setting method.
Proposal: Set ACK_SN to the SN of the first not completely received PDU above the highest NACK_SN in the short STATUS PDU
4.
Reference
[1] R2-082018 Clarification to the handling of large RLC status reports, Ericsson
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